Упражнение 1.
Раскройте скобки, употребляя требующуюся форму прилагательного.
1. We should eat (healthy) food.
3. It’s (bad) mistake he has ever made.
4. This man is (tall) than that one.
5. Asia is (large) than Australia.
6. The Volga is (short) than the Mississippi.
7. Which building is the (high) in Moscow?
8. Mary is a (good) student than Lucy.
9. The Alps are (high) than the Urals.
10. This garden is the (beautiful) in our town.
11. She speaks Italian (good) than English.
12. Is the word “newspaper” (long) than the word “book”?
13. The Thames is (short) than the Volga. 
14. The Arctic Ocean is (cold) than the Indian Ocean.
15. Chinese is (difficult) than English.
16. Spanish is (easy) than German.
17. She is not so (busy) as I am.
18. It is as (cold) today as it was yesterday.
20. Today the weather is (cold) than it was yesterday.
21. This book is (interesting) of all I have read this year.
22. January is the (cold) month of the year.
23. My sister speaks English (bad) than I do.
24. Which is the (hot) month of the year?
25. Which is the (beautiful) place in this part of the country? :
26. This good-looking girl is the (good) student in our group.
Упражнение 3.
Раскройте скобки, употребляя требующуюся форму прилагательного.
[bookmark: _GoBack]1. Which is (large): the United States or Canada? 2. What is the name of the (big) port in the United States? 3. Moscow is the (large) city in Russia. 4. The London underground is the (old) in the world. 5. There is a (great) number of cars and buses in the streets of Moscow than in any other city of Russia. 6. St. Petersburg is one of the (beautiful) cities in the world. 7. The rivers in America are much (big) than those in England. 8. The island of Great Britain is (small) than Greenland. 9. What is the name of the (high) mountain in Asia? 10. The English Channel is (wide) than the straits of Gibraltar. 11. Russia is a very (large) country.
